School Of Isolated And Distance Education (SIDE)



YEAR 8, 9 & 10 2024

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 1st December 2023 Using "FGMQ" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

Your order will be dispatched no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the Return date of Friday 1st December 2023.

The \$8 delivery fee found at the end of your list applies to all home delivery orders. Any orders placed after the 1st December 2023 will only incur the standard \$8 home delivery fee.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided

Ø Item Unit Item Qty Total Office Use Description Reqd Reqd Price \$ Amount \$ **YEAR 8, 9 & 10**

ASDAN

SIDE will provide the resources for this course.

CAREER EDUCATION

SIDE will provide the resources for this course.

CHILD DEVELOPMENT

SIDE will provide the resources for this course.

CHINESE

SIDE will provide the resources for this course.

DESIGN & TECHNOLOGY

SIDE will provide the resources for this course.

DIGITAL TECHNOLOGIES

SIDE will provide the resources for this course.

ELECTRONICS

SIDE will provide the resources for this course.

ENGLISH

P55151

Binder Book A4 64 Page 8mm

SIDE will provide texts for this course.

FOOD

SIDE will provide the resources for this course. Students will also need to provide ingredients for recipes.

1.25

2.50

FRENCH

SIDE will provide the resources for this course.

HEALTH AND PHYSICAL EDUCATION

SIDE will provide the resources for this course.

HOME ECONOMICS

SIDE will provide the resources, however, students are required to provide the ingredients for food recipes.

HUMANITIES & SOCIAL SCIENCES

No Text book required. SIDE loans Text books and provides on-line learning materials. Students require one large exercise book to record their HASS Glossary and Webex notes.

INDONESIAN

SIDE will provide the resources for this course.

SIDE will provide the resources for this course.

JAPANESE

SIDE will provide the resources for this course.

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	ltem Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATHEMATICS					
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	2		1	41.95	41.95
	A scientific calculator is required.	2			41.55	41.55
P50154	Compass Maped Study SY120 Metal with Pencil	3		1	3.95	3.95
P55442	Display Book A4 20 Pocket Black Refillable	4		1	2.15	2.15
P50046	Lecture Pad A4 7mm 70 Leaf	5		2	3.35	6.70
P56353	Protractor 10 cm 180 4" Half Circle	6		1	0.45	0.45
P56414	Ruler 300mm Plastic Clear	7		1	0.75	0.75
	OPTIONAL - Drawing template such as Mathomat or Super Rule.		_	•		
	MEDIA					
	Students should have ready access to a video camera, DSLR car provide the other resources for this course.	nera or smartp	hone for ima	ages and vio	deo. SIDE	will
	PHOTOGRAPHY					
	SIDE will provide the resources for this course, however, student	ts will need to	have access	to a digital	camera.	
	SCIENCE					
P55706	Dividers Index A4 10 Tab Manilla Bright Colours	8		1	2.25	2.25
P55097	Lever Arch File A4 75mm Board	9		1	5.35	5.35
P56428	Safety Glasses Clear Wrap Around	10		1	6.45	6.45
	This item is compulsory for doing Science Labs.					
	TECHNICAL GRAPHICS					
	SIDE will provide the resources for this course, however, student internet.	ts will need to	download s _l	pecific CAD	software	from the
	TEXTILES					
	SIDE will provide the resources for this course.					
	VISUAL ART					
	All items essential unless otherwise indicated.					
P51353	Glue Stick 40gm Artline Purple	11		1	2.75	2.75
P56291	Marker Artline #70 Bullet Point 1.5mm Black (Xylene Free)	12		1	4.75	4.75
P56130	Pen Felt Tip Fineliner Black	13		1	2.85	2.85
P52001	Pencil (2B) Goldfaber	14		2	0.65	1.30
	A comprehensive package of art supplies will be dispatched to e semester and must be returned if a student withdraws from the c					

semester and must be returned if a student withdraws from the course without using the materials. Students who find they need additional supplies will request these from their teacher.

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	OPTIONAL STATIONERY					
P54035	2024 Diary A5 Student Cumberland	15	П	1	2.15	2.15
P55442	Display Book A4 20 Pocket Black Refillable	16		4	2.15	8.60
P55709	Dividers Index A4 5 Tab (Board)	17		1	1.10	1.10
P65021	Document Wallet FC Polydoc Clear	18		4	2.50	10.00
P58510	Eraser Plastic Pencil Large With Sleeve	19		1	0.40	0.40
P50186	Highlighter Marker - Yellow	20		2	1.60	3.20
P50046	Lecture Pad A4 7mm 70 Leaf	21	_	2	3.35	6.70
P55097	Lever Arch File A4 75mm Board	22	_	2	5.35	10.70
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	23	ā	2	3.80	7.60
P50113	Markers Faber Project Wallet 12 Assorted	24		1	3.45	3.45
P52014	Pencil (6B) Goldfaber	25		2	0.65	1.30
P56130	Pen Felt Tip Fineliner Black	26		2	2.85	5.70
P56107	Pen Ballpoint Cap Type Blue Med Staedtler	27		2	0.85	1.70
P56108	Pen Ballpoint Cap Type Red Med Staedtler	28		2	0.85	1.70
P51004	Pencils-Coloured 12's Triangular Box	29	$\overline{\Box}$	1	4.60	4.60
P56414	Ruler 300mm Plastic Clear	30		1	0.75	0.75
P56243	Sharpener Pencil Metal Double Hole (HQ)	31		1	1.15	1.15

Number of Boxes ticked:	
Postage (Home delivery only)	\$8.00
ESTIMATED AMOUNT DUE (PRICES CORRECT AT 09/10/23)	\$